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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give the answer of the following questions:

	 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE&

	 (i)	 Define life expectancy.

		  OrdZ àË¶mem H$mo n[a^m{fV H$s{OE&

	 (ii)	 What is mean by economic planning?

		  Am{W©H$ {Z¶moOZ go ³¶m VmËn¶© h¡?

	 (iii)	 What is food security?

		  ImX²¶ gwajm ³¶m h¡?

	 (iv)	 What is Liberalization?

		  CXmarH$aU ³¶m h¡?

	 (v)	 What is the definition of unemployment?

		  ~oamoOJmar H$s ³¶m n[a^mfm h¡?

	 (vi)	 What do you mean by underdeveloped economy?

		  A{dH${gV AW©ì¶dñWm go AmnH$m ³¶m A{^àm¶ h¡?

	 (vii)	Define poverty.

		  Jar~r H$mo n[a^m{fV H$s{OE&

	 (viii)	What do you understand by dual nature of economy?

		  AW©ì¶dñWm H$s Xmohar àH¥${V go Amn ³¶m g‘PVo h¢?

	 (ix)	 Define economic development.

		  Am{W©H$ {dH$mg H$mo n[a^m{fV H$s{OE&

	 (x)	 What is Human Development Index?

		  ‘mZd {dH$mg gyMH$m§H$ ³¶m h¡?
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Write the main causes of unemployment in India.

	 ^maV ‘| ~oamoOJmar Ho$ à‘wI H$maU {b{IE&

3)	 Evaluate the Industrial policy 1991.

	 1991 H$s Am¡Úmo{JH$ Zr{V H$m ‘yë¶m§H$Z H$s{OE&

4)	 Write some suggestions for export promotion in India.

	 ^maV Ho$ {Z¶m©Vm| Ho$ g§~Y©Z Ho$ {bE Hw$N> gwPmd {b{IE&

5)	 Explain in short, the literacy rate of India.

	 ^maV H$s gmjaVm Xa na EH$ bKw ì¶m»¶m H$s{OE&

6)	 Write the reasons for the growth of urbanization.

	 eharH$aU Ho$ d¥{Õ Ho$ H$maU {b{IE&

7)	 Describe national water policy.

	 amîQ´>r¶ ObZr{V H$s ì¶m»¶m H$s{OE&

8)	 What are the renewable and nonrenewable sources of energy.

	 ZdrZrH$aU Ed§ AZdrZrH$aU D$Om© Ho$ òmoV H$m¡Z go h¢?

9)	 Write the sources of finance for small scale industries.

	 bKw CÚmoJm| Ho$ {bE {dÎmr¶ ì¶dñWm Ho$ ñÌmoV {b{IE&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 What are the pros and lacks of green revolution? Explain.

	 h[aV H«$m§{V H$s bm^ d H${‘¶m± ³¶m h¢? ì¶m»¶m H$s{OE&

11)	 Explain the policy of LPG in India. What are the main impact of 

new economic policy on economy?

	 ^maV ‘| Eb.nr.Or. Zr{V H$s ì¶m»¶m H$s{OE& ZB© Am{W©H$ Zr{V H$m 
^maVr¶ AW©ì¶dñWm na ³¶m à‘wI à^md n‹S>m?

12)	 Explain the factors responsible for food problem in India.

	 ^maV ‘| ImX²¶ g‘ñ¶m Ho$ {bE CÎmaXm¶r H$maH$m| H$s ì¶m»¶m H$s{OE&

13)	 Explain the institutional and non institutional source for 

agriculture finance.

	 H¥${fJV gmI Ho$ g§ñWmJV Ed§ J¡a g§ñWmJV ñÌmoVm| H$s ì¶m»¶m H$s{OE&


